December 21, 2009

Ms. Debbie Kaminski, CPPB Fort Bend County Assistant Purchasing Agent 4520 Read Road, Suite A Rosenberg, TX 77471

SPI Project No. 300701.06

Re: Bid Results for Bid 10-041

FBC PN 733 - Katy Gaston Road from FM 1093 to Cinco Ranch Boulevard

Dear Ms. Kaminski:

On December 17, 2009, Fort Bend County received bids for the above-referenced project. Nine (9) contractors submitted bid proposals for the project. Enclosed is the bid tabulation prepared by our office of all bids received. Our review of the tabulation indicates that Allgood Construction Company is the low bidder with a base bid of \$2,623,614.78. Please note that our evaluation of the bids included only a review of the detailed pricing, and did not include an evaluation of the other required bid documents (insurance, references, financial statements nor bid bonds).

If you have any questions, please feel free to contact me at 281-920-0487.

Sincerely,

Peter A. Ring, P.E. Project Manager

PAR/bl

Enclosure

Fort Bend County Project # 733 Katy Bid Date 12/17/09	Mobility Program Gaston Road Widening				Bidder No. 1 All Good		Bidder No. 2 Durwood Green		Bidder No. 3 Angel Brothers		Bidder No. 4 Hassell Constr.	
Item Number	Specification Number A. GENERAL ITEMS	Unit	Quantity	Description	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
1	102	STA	0	CLEARING AND GRUBBING	\$0.00	\$0.00	\$1,000.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
2	TxDOT	HR	100	BLADING	\$48.15	\$4,815.00	\$30.00	\$3,000.00	\$25.00	\$2,500.00	\$40.00	\$4,000.00
3	160	SY	2900	FURNISHING AND PLACING TOPSOIL (4")	\$2.68	\$7,772.00	\$0.25	\$725.00	\$3.50	\$10,150.00	\$1.50	\$4,350.00
<u>4</u> 5	162	SY	2900	BLOCK SODDING HYDRO-MULCH SEEDING (TEMP)	\$2.68	\$7,772.00	\$3.25	\$9,425.00	\$3.50	\$10,150.00	\$2.60	\$7,540.00
6	165 165	AC AC	3.25	HYDRO-MULCH SEEDING (TEMP) HYDRO-MULCH SEEDING (FINAL)	\$1,070.00 \$1,284.00	\$2,140.00 \$4,173.00	\$1,200.00 \$1,200.00	\$2,400.00 \$3,900.00	\$1,000.00 \$1,000.00	\$2,000.00 \$3,250.00	\$1,200.00 \$1,200.00	\$2,400.00 \$3,900.00
7	166	AC	5.31	FERTILIZER	\$535.00	\$2,840.85	\$100.00	\$531.00	\$500.00	\$2,655.00	\$300.00	\$1,593.00
			•	SUBTOTAL GENERAL ITEMS	,	\$29,512.85	,	\$19,981.00	******	\$30,705.00	***************************************	\$23,783.00
	C. STORM SEWER ITEMS		1 005	Ino pure (or my (or my	N. Bil	1	N. 5:1	T T	N. B. I			
8	460 460	LF LF	685 1,949	RC PIPE (CL III)(18 IN) RC PIPE (CL III)(24 IN)	No Bid No Bid	-	No Bid No Bid		No Bid No Bid		No Bid No Bid	
10	460	LF	1,452	RC PIPE (CL III)(24 IIV) RC PIPE (CL III)(30 IN)	No Bid		No Bid		No Bid	-	No Bid	
11	460	LF	3,226	RC PIPE (CL III)(36 IN)	No Bid		No Bid		No Bid		No Bid	
12	460	LF	594	RC PIPE (CL III)(42 IN)	No Bid		No Bid		No Bid		No Bid	
13	460	LF	1,137	RC PIPE (CL III)(48 IN)	No Bid		No Bid		No Bid		No Bid	
14	461	LF	54	CMP (GAL STL 54 IN)	\$105.16	\$5,678.64	\$130.00	\$7,020.00	\$150.00	\$8,100.00	\$112.00	\$6,048.00
15 16	463 472	EA EA	6 5	SET (TY II)(18 IN)(RCP)(6:1)(P) INLET (COMPL)(TY A)	\$829.25 \$1,112.80	\$4,975.50 \$5,564.00	\$1,400.00 \$1,500.00	\$8,400.00 \$7,500.00	\$850.00 \$1,000.00	\$5,100.00 \$5,000.00	\$1,000.00 \$1,300.00	\$6,000.00 \$6,500.00
17	472	EA	1	INLET (COMPL)(TY E)	\$3,108.35	\$3,108.35	\$4,000.00	\$4,000.00	\$3,150.00	\$3,150.00	\$1,300.00	\$1,300.00
18	472	EA	16	INLET (COMPL)(TY H-2)	\$2,027.65	\$32,442.40	\$2,100.00	\$33,600.00	\$2,000.00	\$32,000.00	\$1,800.00	\$28,800.00
19	472	EA	6	INLET (COMPL)(TY H-2)(MOD)	\$2,236.30	\$13,417.80	\$2,100.00	\$12,600.00	\$2,500.00	\$15,000.00	\$2,200.00	\$13,200.00
20	471	EA	2	MANH (COMPL)(TY M)	\$1,567.55	\$3,135.10	\$3,200.00	\$6,400.00	\$1,750.00	\$3,500.00	\$2,100.00	\$4,200.00
21 SUBTOTAL STOR	495	LF	1065	REMOV OL STR (PIPES) SUBTOTAL STORM SEWER ITEMS	\$9.63	\$10,255.95 <b>\$78,577.74</b>	\$5.00	\$5,325.00 <b>\$84,845.00</b>	\$6.00	\$6,390.00 <b>\$78,240.00</b>	\$15.00	\$15,975.00 <b>\$82,023.00</b>
30BTOTAL STOR	IN SEWER HENS			SOBIOTAL STORM SEWER HEMS		\$10,311.14		\$64,643.00		\$70,240.00		\$62,023.00
	D. PAVEMENT ITEMS											
22	104	SY	2310	REMOVING CONC (PAV)	\$9.63	\$22,245.30	\$7.00	\$16,170.00	\$3.00	\$6,930.00	\$3.00	\$6,930.00
23	104	SY	50	REMOVING CONC (RIPRAP)	\$5.35	\$267.50	\$10.00	\$500.00	\$10.00	\$500.00	\$5.50	\$275.00
24	TxDOT	SY	27500	REMOVING STAB BASE AND ASPH PAV (13" to 18")	\$2.06	\$56,650.00	\$0.40	\$11,000.00	\$1.00	\$27,500.00	\$0.60	\$16,500.00
25 26	110 132	CY CY	16104 5181	ROADWAY EXCAVATION EMBANKMENT	\$5.35 \$4.28	\$86,156.40	\$2.25 \$2.25	\$36,234.00 \$11,657.25	\$5.00 \$3.00	\$80,520.00 \$15,543.00	\$4.00 \$1.00	\$64,416.00
27	220	SY	54167	LIME TRT SUBGRADE (6") (TOTAL)	\$1.44	\$22,174.68 \$78,000.48	\$1.75	\$94,792.25	\$1.00	\$54,167.00	\$1.60	\$5,181.00 \$86,667.20
28	220	TON	1170	LIME (8%)	\$140.17	\$163,998.90	\$100.00	\$117,000.00	\$140.00	\$163,800.00	\$130.00	\$152,100.00
29	250	TON	511	HOT MIX ASPHALTIC CONCRETE BASE COURSE (BLACK BASE)(FINAL)	\$67.98	\$34,737.78	\$67.00	\$34,237.00	\$65.00	\$33,215.00	\$70.00	\$35,770.00
30	250	TON	235	HOT MIX ASPHALTIC CONCRETE BASE COURSE (BLACK BASE)(TEMP)	\$67.98	\$15,975.30	\$67.00	\$15,745.00	\$100.00	\$23,500.00	\$70.00	\$16,450.00
31	310	GAL	7123	PRIME COAT	\$2.06	\$14,673.38	\$2.50	\$17,807.50	\$1.00	\$7,123.00	\$2.20	\$15,670.60
32 33	TxDOT 341 340	TON TON	255 118	HMA SURFACE COURSE FOR KGR ASPHALT SECTION (4")(FINAL) HMA SURFACE COURSE FOR KGR ASPHALT SECTION (4")(TEMP)	\$75.19 \$75.19	\$19,173.45 \$8,872.42	\$69.00 \$69.00	\$17,595.00 \$8,142.00	\$70.00 \$100.00	\$17,850.00 \$11,800.00	\$80.00 \$80.00	\$20,400.00 \$9,440.00
34	360	SY	35775	CONC PVMT (CONT REINF-CRCP)(8") (KGR)	\$26.65	\$953,403.75	\$28.00	\$1,001,700.00	\$33.00	\$1,180,575.00	\$31.40	\$1,123,335.00
35	360	SY	1755	CONC PVMT (CONT REINF-CRCP)(HES)(8")	\$29.96	\$52,579.80	\$40.00	\$70,200.00	\$37.00	\$64,935.00	\$36.10	\$63,355.50
36	493	SY	90	RIPRAP (CONC)(4 IN)	\$53.50	\$4,815.00	\$55.00	\$4,950.00	\$50.00	\$4,500.00	\$36.00	\$3,240.00
37	TxDOT	CY	95	RIPRAP (STONE COMMON)(DRY)(18 IN)	\$58.85	\$5,590.75	\$70.00	\$6,650.00	\$75.00	\$7,125.00	\$63.00	\$5,985.00
38 39	500 500	EA	1	MAILBOX INSTALLATION (SINGLE) REMOVE AND RELOCATE RDSD FLASH BEACON ASSEMBLY	\$160.50	\$321.00	\$200.00	\$400.00 \$3,000.00	\$250.00	\$500.00	\$150.00 \$3,800.00	\$300.00 \$3,800.00
40	530	LS LF	23442	CURB (TY II)	\$1,391.00 \$2.14	\$1,391.00 \$50,165.88	\$3,000.00 \$2.00	\$46,884.00	\$1,250.00 \$2.00	\$1,250.00 \$46,884.00	\$3,800.00	\$3,800.00
41	531	EA	1	CURB RAMPS (TY 5)	\$695.50	\$695.50	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$925.00	\$925.00
42	531	SY	1600	CONC SIDEWALKS (5')(6")	\$26.48	\$42,368.00	\$28.00	\$44,800.00	\$25.00	\$40,000.00	\$35.00	\$56,000.00
43	531	EA		CURB RAMPS (TY 1)	\$695.50	\$9,737.00	\$750.00	\$10,500.00	\$1,250.00	\$17,500.00	\$925.00	\$12,950.00
44	624	EA	18	ALUMINUM SIGNS	\$301.21	\$5,421.78	\$400.00	\$7,200.00	\$350.00	\$6,300.00	\$300.00	\$5,400.00
45 46	660 660	LF LF	4200 5501	REFL PAV MRK TY I (W) 4" (BRK)(100MIL) REFL PAV MRK TY I (W) 4" (SLD)(100MIL)	\$0.50 \$0.48	\$2,100.00 \$2,640.48	\$0.50 \$0.50	\$2,100.00 \$2,750.50	\$0.33 \$0.33	\$1,386.00 \$1,815.33	\$0.50 \$0.50	\$2,100.00 \$2,750.50
47	660	LF	1132	REFL PAV MRK TY I (W) 8" (SLD)(100MIL)	\$1.18	\$1,335.76	\$1.50	\$1,698.00	\$0.68	\$769.76	\$1.10	\$1,245.20
48	660	LF	1303	REFL PAV MRK TY I (W) 24"(SLD)(100MIL)	\$4.28	\$5,576.84	\$5.00	\$6,515.00	\$4.40	\$5,733.20	\$4.00	\$5,212.00
49	660	LF	1471	REFL PAV MRK TY I (Y) 4" (SLD)(100MIL)	\$0.51	\$750.21	\$0.50	\$735.50	\$0.33	\$485.43	\$0.50	\$735.50
50	660	LF	4750	REFL PAV MRK TY I (Y) 4" (SLD)(DBL)(100MIL)	\$1.01	\$4,797.50	\$1.00	\$4,750.00	\$0.33	\$1,567.50	\$0.50	\$2,375.00
51 52	660	LF EA	147 171	REFL PAV MRK TY I (Y) 24"(SLD)(100MIL) REFL PAV MRKR TY II A-A	\$3.81 \$2.94	\$560.07 \$502.74	\$7.00	\$1,029.00 \$684.00	\$4.20 \$3.20	\$617.40 \$547.20	\$3.50 \$3.00	\$514.50 \$513.00
53	660 665	LF	600	WK ZN PAV MRKR TY II A-A WK ZN PAV MRK REMOV (W) 4" (DOT)	\$2.94 \$1.07	\$502.74 \$642.00	\$4.00 \$1.50	\$684.00 \$900.00	\$3.20 \$0.55	\$547.20 \$330.00	\$3.00	\$513.00 \$600.00
54	665	LF	13840	WK ZN PAV MRK REMOV (W) 4 (DOT) WK ZN PAV MRK REMOV (W) 4" (SLD)	\$0.51	\$7,058.40	\$0.50	\$6,920.00	\$0.55	\$7,612.00	\$0.50	\$6,920.00
55	665	LF	220	WK ZN PAV MRK REMOV (W) 24" (SLD)	\$7.45	\$1,639.00	\$8.00	\$1,760.00	\$3.20	\$704.00	\$7.00	\$1,540.00
56	665	LF	600	WK ZN PAV MRK REMOV (Y) 4" (DOT)	\$1.07	\$642.00	\$1.50	\$900.00	\$0.55	\$330.00	\$1.00	\$600.00
57	665	LF	39350	WK ZN PAV MRK REMOV (Y) 4" (SLD)	\$0.50	\$19,675.00	\$0.50	\$19,675.00	\$0.55	\$21,642.50	\$0.50	\$19,675.00
58	666	EA	9	PREFAB PAV MRK TY C (W) (ARROW)	\$143.71	\$1,293.39 \$1,670.31	\$140.00	\$1,260.00	\$300.00	\$2,700.00	\$140.00	\$1,260.00
59 60	666 669	EA LF	9 70312	PREFAB PAV MRK TY C (W) (WORD) PAV SURF PREP FOR MRK ( 4")	\$186.59 \$0.02	\$1,679.31 \$1,406.24	\$150.00 \$0.05	\$1,350.00 \$3,515.60	\$350.00 \$0.01	\$3,150.00 \$703.12	\$180.00 \$0.02	\$1,620.00 \$1,406.24
61	669	LF	1132	PAV SURF PREP FOR MRK ( 8")	\$0.02	\$22.64	\$0.05	\$113.20	\$0.02	\$22.64	\$0.02	\$33.96
62	669	LF	1450	PAV SURF PREP FOR MRK (24")	\$0.40	\$580.00	\$0.50	\$725.00	\$0.07	\$101.50	\$0.40	\$580.00

	Mobility Program Gaston Road Widening			Bidder No. 1 All Good		Bidder No. 2 Durwood Greene		Bidder No. 3 Angel Brothers		Bidder No. 4 Hassell Constr.	
64	669	EA	9 PAV SURF PREP FOR MRK (SYMBOL)	\$5.35	\$48.15	\$5.00	\$45.00	\$1.20	\$10.80	\$5.00	\$45
65	TxDOT	LS	1 MISC SIGNING	\$1,337.50	\$1,337.50	\$10,000.00	\$10,000.00	\$1,200.00	\$1,200.00	\$1,600.00	\$1,600
			SUBTOTAL PAVEMEN	TITEMS	\$1,703,750.43		\$1,646,134.80		\$1,864,956.18		\$1,796,312
66	E. TRAFFIC CONTROL I	TEMS MO	16 BARRICADES, SIGNS AND TRAFFIC HANDLING	\$1,307.54	\$20,920.64	\$1,700.00	\$27,200.00	\$1,200.00	\$19,200.00	\$2,000.00	\$32,000
67	TXDOT	SY	325 CONSTRUCTION EXITS (TY 1)(INST & REMOV)	\$10.70	\$3,477.50	\$7.00	\$2,275.00	\$10.00	\$3,250.00	\$18.00	\$5,850
68	TxDOT	SY	6420 TEMPORARY PAVEMENT	\$36.38	\$233,559.60	\$20.00	\$128,400.00	\$3.80	\$24,396.00	\$40.00	\$256,800
69	674	LF	19269 REMOVING PAVEMENT STRIPING AND MARKINGS	\$0.32	\$6,166.08	\$0.25	\$4,817.25	\$0.38	\$7,322.22	\$0.20	\$3,853
70 71	674 674	EA EA	8 REMOVING PAVEMENT STRIPING AND MARKINGS (SYMB) 4 REMOVING PAVEMENT STRIPING AND MARKINGS (WORD)	\$10.70 \$10.70	\$85.60 \$42.80	\$20.00 \$20.00	\$160.00 \$80.00	\$30.00 \$30.00	\$240.00 \$120.00	\$10.00 \$10.00	\$80 \$40
72	741	EA	28 INLET PROTECTION	\$48.15	\$1,348.20	\$50.00	\$1,400.00	\$100.00	\$2,800.00	\$50.00	\$1,400
73	TxDOT	LF	500 PORT CTB (FURN & INST)(LOW PROF)(TY I)	\$8.56	\$4,280.00	\$40.00	\$20,000.00	\$30.00	\$15,000.00	\$9.50	\$4,75
74	TxDOT	LF	40 PORT CTB (FURN & INST)(LOW PROF)(TY II)	\$8.56	\$342.40	\$40.00	\$1,600.00	\$60.00	\$2,400.00	\$9.50	\$38
75 76	TxDOT TxDOT	LF LF	320   PORT CTB (MOVE)(LOW PROF)(TY I) 40   PORT CTB (MOVE)(LOW PROF)(TY II)	\$5.35 \$5.35	\$1,712.00 \$214.00	\$8.00 \$8.00	\$2,560.00 \$320.00	\$15.00 \$10.00	\$4,800.00 \$400.00	\$8.00 \$8.00	\$2,560 \$320
77	TxDOT	LF	500 PORT CTB (REMOVE)(LOW PROF)(TY I)	\$5.35	\$2,675.00	\$8.00	\$4,000.00	\$10.00	\$5,500.00	\$9.50	\$4,75
78	TxDOT	LF	40 PORT CTB (REMOVE)(LOW PROF)(TY II)	\$5.35	\$214.00	\$8.00	\$320.00	\$20.00	\$800.00	\$9.50	\$38
	F. STORM WATER POL	LITION DDEV	SUBTOTAL TRAFFIC CONTRO	L ITEMS	\$275,037.82		\$193,132.25		\$86,228.22		\$313,16
79	429	LF	5739 TRENCH EXCAVATION PROTECTION (5'-10')	\$0.11	\$631.29	\$0.20	\$1,147.80	\$1.00	\$5,739.00	\$0.50	\$2,86
80	429	LF	3157 TRENCH EXCAVATION PROTECTION(10'-15')	\$0.11	\$347.27	\$0.20	\$631.40	\$1.00	\$3,157.00	\$1.00	\$3,15
81	713	LF	760 REINFORCED FILTER FABRIC BARRIER	\$1.34	\$1,018.40	\$2.00	\$1,520.00	\$1.50	\$1,140.00	\$2.20	\$1,67
82	713 714	LF EA	760 RMV REINF FILTER FABRIC BARRIER	\$0.91 \$48.15	\$691.60	\$1.00	\$760.00	\$1.00	\$760.00 \$6.200.00	\$0.60	\$45 \$2,32
83 84	714 750	EA LF	31 INLET SEDIMENT TRAP 70 ROCK FILTER DAM	\$48.15 \$26.75	\$1,492.65 \$1,872.50	\$90.00 \$35.00	\$2,790.00 \$2,450.00	\$200.00 \$200.00	\$6,200.00 \$14,000.00	\$75.00 \$35.00	\$2,32 \$2,45
04	100		SUBTOTAL STORM WATER POLLUTION PREVENTION		\$6,053.71	ψου.σσ	\$9,299.20	Ψ200.00	\$30,996.00	ψου.υυ	\$12,92
	G. TRAFFIC SIGNAL ITE					*****		****	A		
85 86	411 421	LF CY	64 DRILLED SHAFT (30 IN)(TRAFFIC SIGNALS) 1.3 STRUCT CONC (CONTROLLER FND)	\$214.00 \$1.070.00	\$13,696.00 \$1,391.00	\$200.00 \$1,000.00	\$12,800.00 \$1,300.00	\$210.00 \$1,050.00	\$13,440.00 \$1,365.00	\$200.00 \$1,000.00	\$12,80 \$1,30
87	624	EA	4 ALUMINUM SIGNS (W3-3)(30"X30")	\$278.20	\$1,112.80	\$300.00	\$1,200.00	\$273.00	\$1,092.00	\$260.00	\$1,04
88	624	EA	2 ALUMINUM SIGNS (Katy-Gaston RD)(78"X18")	\$214.00	\$428.00	\$200.00	\$400.00	\$210.00	\$420.00	\$200.00	\$40
89	624	EA	2 ALUMINUM SIGNS (Fry RD)(33"X18")	\$107.00	\$214.00	\$100.00	\$200.00	\$105.00	\$210.00	\$100.00	\$20
90	677	LF	70 CONDUIT (PVC)(SCHD 40)(2 IN)	\$6.42	\$449.40	\$7.00	\$490.00	\$6.30	\$441.00	\$6.00	\$42
91 92	677 677	LF LF	0 CONDUIT (PVC)(SCHD 40)(3 IN)(BORED) 329 CONDUIT (PVC)(SCHD 40)(3 IN)	\$10.70	\$0.00 \$3,520.30	\$45.00 \$11.00	\$0.00 \$3,619.00	\$10.50	\$0.00 \$3,454.50	\$10.00	\$3,29
93	677	LF	4 CONDUIT (PVC)(SCHD 40)(4 IN)	\$12.84	\$51.36	\$12.00	\$48.00	\$12.60	\$50.40	\$12.00	\$4
94	679	LF	1654 ELEC CONDR (2/C #12)	\$1.07	\$1,769.78	\$1.00	\$1,654.00	\$1.05	\$1,736.70	\$1.00	
95	679	LF	1694 ELEC CONDR (4/C #12)	\$1.34	\$2,269.96	\$1.50	\$2,541.00	\$1.30	\$2,202.20	\$1.30	
96 97	679 679	LF LF	2170 ELEC CONDR 7/C #12) 1033 ELEC CONDR (3/C #16)	\$1.93 \$0.54	\$4,188.10 \$557.82	\$2.00 \$0.50	\$4,340.00 \$516.50	\$1.90 \$0.55	\$4,123.00 \$568.15	\$2.00 \$0.60	\$4,34 \$61
98	680	EA	1 TRAF SIG POLE (19') W/ 44' MAST ARM	\$5,992.00	\$5,992.00	\$5,900.00	\$5,900.00	\$6,100.00	\$6,100.00	\$6,000.00	\$6,00
99	680	EA	1 TRAF SIG POLE (30') W/ 40' MAST ARM W/ LUM ARM	\$6,527.00	\$6,527.00	\$6,400.00	\$6,400.00	\$6,500.00	\$6,500.00	\$6,200.00	\$6,20
100	680	EA	1 TRAF SIG POLE (19') W/ 40' MAST ARM	\$5,671.00	\$5,671.00	\$5,500.00	\$5,500.00	\$5,600.00	\$5,600.00	\$5,400.00	\$5,40
101 102	680 686	EA EA	1 TRAF SIG POLE (30') W/ 44' MAST ARM W/LUM ARM 2 RDWY ILLUM ASSM (250W HPS)	\$7,490.00 \$642.00	\$7,490.00 \$1,284.00	\$7,500.00 \$600.00	\$7,500.00 \$1,200.00	\$7,350.00 \$630.00	\$7,350.00 \$1,260.00	\$7,100.00 \$600.00	\$7,10 \$1,20
102	690	EA	8 TRAF SIG HEAD (3 SECTION)(12" LED)(R-Y-G)	\$658.05	\$5,264.40	\$620.00	\$4,960.00	\$650.00	\$5,200.00	\$650.00	\$5,20
104	690	EA	4 TRAF SIG HEAD (4 SECTION)(12" LED)(R-R-Y-G)	\$802.50	\$3,210.00	\$750.00	\$3,000.00	\$800.00	\$3,200.00	\$750.00	\$3,00
105	TxDOT	LF	72 ELEC CONDR (NO. 4) INSULATED	\$1.07	\$77.04	\$2.00	\$144.00	\$1.05	\$75.60	\$1.00	
106 107	TxDOT TxDOT	LF LF	661 ELEC CONDR (NO. 8) BARE 742 ELEC CONDR (NO. 8) INSULATED	\$0.64 \$0.70	\$423.04 \$519.40	\$1.00 \$1.00	\$661.00 \$742.00	\$0.68 \$0.72	\$449.48 \$534.24	\$0.60 \$0.65	\$39 \$48
108	TxDOT	EA	4 GROUND BOX TY 1 (243630)	\$577.80	\$2,311.20	\$600.00	\$2,400.00	\$570.00	\$2,280.00	\$550.00	
109	TxDOT	EA	1 ELC SRV TY D(120/240)070(NS)GS(E)RT(O)	\$2,996.00	\$2,996.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$2,800.00	
110	TxDOT	EA	1 TRAFFIC SIGNAL CONTROLLER (TYPE TS 2)	\$16,050.00	\$16,050.00	\$15,000.00	\$15,000.00	\$16,500.00	\$16,500.00	\$15,000.00	
111 112	TxDOT TxDOT	EA EA	8 BACK PLATE (3 SEC)(12 IN) 4 BACK PLATE (4 SEC)(12 IN)	\$42.80 \$53.50	\$342.40 \$214.00	\$50.00 \$60.00	\$400.00 \$240.00	\$42.00 \$53.00	\$336.00 \$212.00	\$45.00 \$55.00	\$3 \$2
112	TXDOT	EA	8 PED SIG SEC (12 IN)(2 INDICAT IN 1 SEC)(LED)	\$53.50 \$374.50	\$214.00 \$2,996.00	\$400.00	\$240.00 \$3,200.00	\$53.00 \$375.00	\$212.00	\$55.00 \$350.00	\$2,8
114	TxDOT	EA	8 PED DETECT ( 2 INCH PUSH BTN)	\$74.90	\$599.20	\$80.00	\$640.00	\$75.00	\$600.00	\$45.00	\$3
115	TxDOT	EA	1 SPREAD SPECTRUM RADIO	\$4,708.00	\$4,708.00	\$4,500.00	\$4,500.00	\$4,750.00	\$4,750.00	\$4,500.00	
116	TxDOT	LF EA	45 COAXIAL CABLE	\$2.94	\$132.30	\$3.00	\$135.00 \$700.00	\$3.00	\$135.00 \$700.00	\$2.80	\$1 \$6
117 118	TxDOT TxDOT	EA EA	1 ANTENNA (UNI-DIRECTIONAL) 1 VIVDS PROCESSOR SYSTEM	\$695.50 \$15,194.00	\$695.50 \$15,194.00	\$700.00 \$15,000.00	\$700.00 \$15,000.00	\$700.00 \$15,000.00	\$700.00 \$15,000.00	\$650.00 \$14,500.00	\$6 \$14,5
119	TxDOT	EA	4 VIVDS CAMERA ASSEMBLY	\$1,551.50	\$6,206.00	\$1,500.00	\$6,000.00	\$1,600.00	\$6,400.00	\$1,450.00	\$5,8
120	TxDOT	EA	1 VIVDS SET-UP SYSTEM	\$5,885.00	\$5,885.00	\$6,000.00	\$6,000.00	\$6,000.00	\$6,000.00	\$5,500.00	\$5,5
121	TxDOT	LF	1033 VIVDS COMMUNICATION CABLE (COAXIAL)  SUBTOTAL TRAFFIC SIGNA	\$1.39	\$1,435.87 \$125.871.87	\$1.50	\$1,549.50 <b>\$123,880.00</b>	\$1.40	\$1,446.20 <b>\$125,731.47</b>	\$1.40	
	H. ALTERNATE BID ITE	MS	SUBTUTAL TRAFFIC SIGNA	LIIEWO	\$125,871.87		\$123,88U.UU		φ120,/31.4/		\$119,6
122	HCFCD	LF	685 HDPE PIPE (18 IN)	\$23.26	\$15,933.10	\$36.00	\$24,660.00	\$27.00	\$18,495.00	\$25.00	\$17,1
123	HCFCD	LF	1,949 HDPE PIPE (24 IN)	\$36.23	\$70,612.27	\$44.00	\$85,756.00	\$35.00	\$68,215.00	\$38.00	
124 125	HCFCD HCFCD	LF LF	1,452   HDPE PIPE (30 IN) 3,226   HDPE PIPE (36 IN)	\$38.50 \$45.96	\$55,902.00 \$148,266.96	\$50.00 \$67.00	\$72,600.00 \$216,142.00	\$38.00 \$56.00	\$55,176.00 \$180,656.00	\$44.00 \$52.00	\$63,8 \$167,7
126	HCFCD	LF	594 HDPE PIPE (42 IN)	\$45.96 \$59.45	\$35,313.30	\$92.00	\$216,142.00 \$54,648.00	\$88.00	\$52,272.00	\$52.00 \$66.45	
127	HCFCD	LF	1,137 HDPE PIPE (48 IN)	\$69.29	\$78,782.73	\$107.00	\$121,659.00	\$95.00	\$108,015.00	\$88.00	\$100,0
-	<del></del>		SUBTOTAL ALTERNATE BII	DITEMS	\$404,810.36		\$575,465.00	-	\$482,829.00	· · · · · · · · · · · · · · · · · · ·	\$462,3
AL BID PRICE	(ITEMS A THROUGH H)				\$2,623,614.78		\$2,652,737.25		\$2,699,685.87		\$2,810,1
				\$	%	\$	%	\$	%	\$	%

300

300

Unspecified

450

DAYS - 480 MAX

Fort Bend County Mobility Program Project # 733 Katy Gaston Road Widening Bid Date 12/17/09			Bidder No. 5 South Coast		Bidder No. 6 Texas Sterling		Bidder No. 7 Beyer Construct		Bidder No. 8 Triple B		Bidder No. 9 Harris		Average of all B	ids E	Engineer's Estimate			
Item Number	Specification Number A. GENERAL ITEMS	Unit	Quantity	Description	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
1	102	STA	0	CLEARING AND GRUBBING	\$0.00	\$0.00	\$0.00	\$0.00	\$725.00	\$64,887.50	\$2.000.00	\$0.00	\$0.00	\$0.00		\$0.00	\$0.00	\$0.0
2	TxDOT	HR	100	BLADING	\$50.00	\$5,000.00	\$65.00	\$6,500.00	\$150.00	\$15,000.00	\$77.25	\$7,725.00	\$141.00	\$14,100.00	\$69.60	\$6,960.00	\$62.50	\$6,250.0
3	160	SY	2900	FURNISHING AND PLACING TOPSOIL (4")	\$0.50	\$1,450.00	\$10.00	\$29,000.00	\$6.00	\$17,400.00	\$4.00	\$11,600.00	\$18.00	\$52,200.00	\$5.16	\$14,964.00	\$2.00	\$5,800.0
4	162	SY	2900	BLOCK SODDING	\$2.40	\$6,960.00	\$3.00	\$8,700.00	\$3.00	\$8,700.00	\$3.00	\$8,700.00	\$4.50	\$13,050.00	\$3.10	\$8,990.00	\$3.50	\$10,150.0
5	165	AC	2	HYDRO-MULCH SEEDING (TEMP)	\$1,100.00	\$2,200.00	\$1,100.00	\$2,200.00	\$1,300.00	\$2,600.00	\$1,500.00	\$3,000.00	\$1,350.00	\$2,700.00	\$1,202.22	\$2,404.44	\$1,000.00	\$2,000.0
6	165	AC	3.25	HYDRO-MULCH SEEDING (FINAL)	\$1,100.00	\$3,575.00	\$1,100.00	\$3,575.00	\$1,300.00	\$4,225.00	\$1,500.00	\$4,875.00	\$1,450.00	\$4,712.50	\$1,237.11	\$4,020.61	\$1,000.00	\$3,250.0
	166	AC	5.31	FERTILIZER SUBTOTAL GENERAL ITEMS	\$310.00	\$1,646.10 <b>\$20,831.10</b>	\$500.00	\$2,655.00 <b>\$52,630.00</b>	\$300.00	\$1,593.00 <b>\$114,405.50</b>	\$325.00	\$1,725.75 <b>\$37,625.75</b>	\$500.00	\$2,655.00 <b>\$89,417.50</b>	\$374.44	\$1,988.28 <b>\$39,327.32</b>	\$5.31	\$28.2 <b>\$27,478.2</b>
	C. STORM SEWER ITEMS			GODIOTAL GENERAL TELINO		\$20,001.10		ψ0Σ,000.00		<b>\$114,400.00</b>		ψ01,020.10		ψου, 411.00		ψοσ,σεν.σε		ψ <u>Σ</u> 1,410.Σ
8	460	LF	685	RC PIPE (CL III)(18 IN)	No Bid		No Bid		No Bid		\$40.00	\$27,400.00	\$37.00	\$25,345.00	\$38.50	\$26,372.50	\$46.00	\$31,510.0
9	460	LF	1.949	RC PIPE (CL III)(24 IN)	No Bid		No Bid		No Bid		\$50.00	\$97,450.00	\$43.00	\$83,807.00	\$46.50	\$90,628.50	\$55.00	\$107.195.0
10	460	LF	1,452	RC PIPE (CL III)(30 IN)	No Bid		No Bid		No Bid		\$60.00	\$87,120.00	\$49.00	\$71,148.00	\$54.50	\$79,134.00	\$70.00	\$101,640.0
11	460	LF	3,226	RC PIPE (CL III)(36 IN)	No Bid		No Bid		No Bid		\$90.00	\$290,340.00	\$82.00	\$264,532.00	\$86.00	\$277,436.00	\$90.00	\$290,340.0
12	460	LF	594	RC PIPE (CL III)(42 IN)	No Bid		No Bid		No Bid		\$120.00	\$71,280.00	\$80.00	\$47,520.00	\$100.00	\$59,400.00	\$135.00	\$80,190.0
13	460	LF	1,137	RC PIPE (CL III)(48 IN)	No Bid		No Bid		No Bid		\$140.00	\$159,180.00	\$96.00	\$109,152.00	\$118.00	\$134,166.00	\$150.00	\$170,550.0
14	461	LF	54	CMP (GAL STL 54 IN)	\$235.00	\$12,690.00	\$180.00	\$9,720.00	\$131.50	\$7,101.00	\$204.00	\$11,016.00	\$144.00	\$7,776.00	\$154.63	\$8,350.02	\$155.00	\$8,370.0
15	463 472	EA	6	SET (TY II)(18 IN)(RCP)(6:1)(P)	\$1,250.00	\$7,500.00	\$900.00	\$5,400.00	\$820.00	\$4,920.00	\$1,200.00	\$7,200.00	\$900.00	\$5,400.00	\$1,016.58	\$6,099.48	\$175.00	\$1,050.0 \$15,000.0
16 17	472	EA EA	5 1	INLET (COMPL)(TY A) INLET (COMPL)(TY E)	\$2,100.00 \$3,900.00	\$10,500.00 \$3,900.00	\$1,800.00 \$3,500.00	\$9,000.00 \$3,500.00	\$1,145.00 \$3,550.25	\$5,725.00 \$3,550.25	\$1,650.00 \$4,280.00	\$8,250.00 \$4,280.00	\$1,150.00 \$3,225.00	\$5,750.00 \$3,225.00	\$1,417.53 \$3,334.84	\$7,087.65 \$3,334.84	\$3,000.00 \$3,000.00	\$15,000.0 \$3,000.0
17	472	EA	16	INLET (COMPL)(TY E)	\$3,900.00	\$3,900.00 \$41,600.00	\$3,500.00	\$3,500.00	\$3,550.25 \$2.500.00	\$3,550.25 \$40,000.00	\$4,280.00 \$2,500.00	\$4,280.00 \$40.000.00	\$3,225.00 \$1,850.00	\$3,225.00	\$3,334.84 \$2.153.07	\$3,334.84 \$34,449.12	\$3,000.00	\$3,000.0
19	472	EA	6	INLET (COMPL)(TY H-2)(MOD)	\$2,600.00	\$15,000.00	\$2,000.00	\$13.500.00	\$3,500.00	\$21,000.00	\$3,289.00	\$19.734.00	\$2,295.00	\$29,600.00	\$2,153.07	\$15,246.84	\$4.500.00	\$27.000.0
20	471	EA	2	MANH (COMPL)(TY M)	\$3,000.00	\$6,000.00	\$2,000.00	\$4,000.00	\$1,900.00	\$3,800.00	\$1,040.50	\$2,081.00	\$1,700.00	\$3,400.00	\$2,028.67	\$4,057.34	\$3,000.00	\$6,000.0
21	495	LF	1065	REMOV OL STR (PIPES)	\$12.50	\$13,312.50	\$9.00	\$9,585.00	\$7.90	\$8,413.50	\$8.75	\$9,318.75	\$9.00	\$9,585.00	\$9.20	\$9,798.00	\$11.00	\$11,715.0
SUBTOTAL STOR	RM SEWER ITEMS			SUBTOTAL STORM SEWER ITEMS		\$110,502.50		\$86,705.00		\$94,509.75		\$834,649.75		\$680,010.00		\$755,560.29		\$901,560.0
22	D. PAVEMENT ITEMS	SY	2310	REMOVING CONC (PAV)	\$2.30	\$5,313.00	\$9.00	\$20,790.00	\$3,30	\$7,623.00	\$5.60	\$12,936.00	\$8.50	\$19,635.00	\$5.70	\$13,167.00	\$4.00	\$9,240.0
23	104	SY	50	REMOVING CONC (RIPRAP)	\$2.15	\$107.50	\$40.00	\$2,000.00	\$10.50	\$525.00	\$6.10	\$305.00	\$40.00	\$2,000.00	\$14.40	\$720.00	\$4.35	\$217.5
24	TXDOT	SY	27500	REMOVING STAB BASE AND ASPH PAV (13" to 18")	\$4.70	\$129,250.00	\$1.00	\$27,500.00	\$3.70	\$101,750.00	\$2.25	\$61.875.00	\$10.40	\$286,000.00	\$2.90	\$79,750.00	\$5.52	\$151,800.0
25	110	CY	16104	ROADWAY EXCAVATION	\$4.50	\$72,468.00	\$6.00	\$96,624.00	\$9.45	\$152,182.80	\$2.60	\$41,870.40	\$12.00	\$193,248.00	\$5.68	\$91,470.72	\$6.00	\$96,624.0
26	132	CY	5181	EMBANKMENT	\$1.00	\$5,181.00	\$3.00	\$15,543.00	\$1.90	\$9,843.90	\$8.70	\$45,074.70	\$3.00	\$15,543.00	\$3.13	\$16,216.53	\$8.00	\$41,448.0
27	220	SY	54167	LIME TRT SUBGRADE (6") (TOTAL)	\$1.05	\$56,875.35	\$2.00	\$108,334.00	\$1.45	\$78,542.15	\$1.65	\$89,375.55	\$1.70	\$92,083.90	\$1.52	\$82,333.84	\$2.25	\$121,875.7
28	220	TON	1170	LIME (8%)	\$160.00	\$187,200.00	\$120.00	\$140,400.00	\$131.00	\$153,270.00	\$154.70	\$180,999.00	\$155.00	\$181,350.00	\$136.76	\$160,009.20	\$120.00	\$140,400.0
29	250	TON	511	HOT MIX ASPHALTIC CONCRETE BASE COURSE (BLACK BASE)(FINAL)	\$85.00	\$43,435.00	\$75.00	\$38,325.00	\$66.50	\$33,981.50	\$65.00	\$33,215.00	\$75.00	\$38,325.00	\$70.72	\$36,137.92	\$90.00	\$45,990.0
30 31	250 310	TON GAL	235 7123	HOT MIX ASPHALTIC CONCRETE BASE COURSE (BLACK BASE)(TEMP) PRIME COAT	\$80.00 \$1.85	\$18,800.00 \$13,177.55	\$90.00 \$3.00	\$21,150.00 \$21,369.00	\$87.15 \$2.00	\$20,480.25 \$14,246.00	\$81.00 \$2.00	\$19,035.00 \$14,246.00	\$120.00 \$3.00	\$28,200.00 \$21,369.00	\$84.79 \$2.18	\$19,925.65 \$15,528.14	\$90.00 \$3.50	\$21,150.0 \$24,930.5
32	TxDOT 341	TON	255	HMA SURFACE COURSE FOR KGR ASPHALT SECTION (4")(FINAL)	\$109.00	\$27,795.00	\$75.00	\$19,125.00	\$89.40	\$22,797.00	\$71.00	\$18,105.00	Illegible	\$21,369.00	\$79.82	\$20,354.10	\$90.00	\$22,950.0
33	340	TON	118	HMA SURFACE COURSE FOR KGR ASPHALT SECTION (4")(TEMP)	\$85.00	\$10,030.00	\$90.00	\$10,620.00	\$133.25	\$15,723.50	\$83.00	\$9,794.00	\$170.00	\$20,060.00	\$98.38	\$11,608.84	\$90.00	\$10,620.0
34	360	SY	35775	CONC PVMT (CONT REINF-CRCP)(8") (KGR)	\$25.85	\$924,783.75	\$32.00	\$1,144,800.00	\$28.15	\$1,007,066.25	\$28.55	\$1,021,376.25	\$24.85	\$889,008.75	\$28.72	\$1,027,458.00	\$54.00	\$1,931,850.0
35	360	SY	1755	CONC PVMT (CONT REINF-CRCP)(HES)(8")	\$25.00	\$43,875.00	\$100.00	\$175,500.00	\$31.00	\$54,405.00	\$39.65	\$69,585.75	\$24.85	\$43,611.75	\$40.40	\$70,902.00	\$102.00	\$179,010.0
36	493	SY	90	RIPRAP (CONC)(4 IN)	\$55.50	\$4,995.00	\$90.00	\$8,100.00	\$78.00	\$7,020.00	\$38.60	\$3,474.00	\$60.00	\$5,400.00	\$57.40	\$5,166.00	\$60.00	\$5,400.0
37	TxDOT	CY	95	RIPRAP (STONE COMMON)(DRY)(18 IN)	\$45.00	\$4,275.00	\$100.00	\$9,500.00	\$63.00	\$5,985.00	\$104.00	\$9,880.00	\$120.00	\$11,400.00	\$77.65	\$7,376.75	\$122.00	\$11,590.0
38	500	EA	2	MAILBOX INSTALLATION (SINGLE)	\$200.00	\$400.00	\$550.00	\$1,100.00	\$280.00	\$560.00	\$165.00	\$330.00	\$500.00	\$1,000.00	\$272.83	\$545.66	\$170.00	\$340.0
39	500	LS	1 22442	REMOVE AND RELOCATE RDSD FLASH BEACON ASSEMBLY	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,750.00	\$1,750.00	\$5,000.00	\$5,000.00	\$2,500.00	\$2,500.00	\$2,410.11	\$2,410.11	\$5,000.00	\$5,000.0
40 41	530 531	LF EA	23442	CURB (TY II) CURB RAMPS (TY 5)	\$1.90 \$1,200.00	\$44,539.80 \$1,200.00	\$1.50 \$1,800.00	\$35,163.00 \$1,800.00	\$2.55 \$755.00	\$59,777.10 \$755.00	\$2.65 \$1,139.50	\$62,121.30 \$1,139.50	\$2.15 \$885.00	\$50,400.30 \$885.00	\$2.07 \$1,155.56	\$48,524.94 \$1,155.56	\$2.25 \$1,600.00	\$52,744.5 \$1,600.0
41	531	SY	1600	CONC SIDEWALKS (5')(6")	\$1,200.00	\$1,200.00	\$1,800.00	\$1,800.00	\$33.75	\$755.00 \$54.000.00	\$1,139.50	\$1,139.50 \$57,280.00	\$30.00	\$885.00 \$48.000.00	\$1,155.56	\$49,600.00	\$55.00	\$1,600.0
43	531	EA	14	CURB RAMPS (TY 1)	\$1,000.00	\$14,000.00	\$1,800.00	\$25,200.00	\$755.00	\$10,570.00	\$1,139.50	\$15,953.00	\$1,050.00	\$14,700.00	\$1,040.56	\$14,567.84	\$1,700.00	\$23,800.0
44	624	EA		ALUMINUM SIGNS	\$282.00	\$5,076.00	\$300.00	\$5,400.00	\$310.00	\$5,580.00	\$374.20	\$6,735.60		\$18,900.00		\$7,334.82	\$250.00	\$4,500.0
45	660	LF		REFL PAV MRK TY I (W) 4" (BRK)(100MIL)	\$0.30	\$1,260.00	\$0.30	\$1,260.00	\$0.30	\$1,260.00	\$0.30	\$1,260.00	\$0.50	\$2,100.00	\$0.39	\$1,638.00	\$0.40	\$1,680.0
46	660	LF		REFL PAV MRK TY I (W) 4" (SLD)(100MIL)	\$0.30	\$1,650.30	\$0.30	\$1,650.30	\$0.29	\$1,595.29	\$0.30	\$1,650.30	\$0.50	\$2,750.50	\$0.39	\$2,145.39	\$0.25	\$1,375.2
47	660	LF.		REFL PAV MRK TY I (W) 8" (SLD)(100MIL)	\$0.60	\$679.20	\$0.60	\$679.20	\$0.62	\$701.84	\$0.60	\$679.20	\$0.70	\$792.40	\$0.84	\$950.88	\$0.75	\$849.0
48	660	LF		REFL PAV MRK TY I (W) 24"(SLD)(100MIL)	\$4.00	\$5,212.00	\$4.20	\$5,472.60	\$4.30	\$5,602.90	\$4.20	\$5,472.60	\$4.75	\$6,189.25	\$4.35	\$5,668.05	\$3.75	\$4,886.2
49	660	LF		REFL PAV MRK TY I (Y) 4" (SLD)(100MIL)	\$0.30	\$441.30	\$0.30	\$441.30	\$0.30	\$441.30	\$0.30	\$441.30	\$0.50	\$735.50	\$0.39	\$573.69	\$0.25	\$367.7
50 51	660 660	LF LF		REFL PAV MRK TY I (Y) 4" (SLD)(DBL)(100MIL) REFL PAV MRK TY I (Y) 24"(SLD)(100MIL)	\$0.30 \$4.00	\$1,425.00 \$588.00	\$0.55 \$4.20	\$2,612.50 \$617.40	\$0.56 \$4.30	\$2,660.00 \$632.10	\$0.55 \$4.20	\$2,612.50 \$617.40	\$0.75 \$4.75	\$3,562.50 \$698.25	\$0.62 \$4.44	\$2,945.00 \$652.68	\$0.50 \$1.50	\$2,375.0 \$220.5
J I				REFL PAV MRKR TY II A-A	\$3.00	\$513.00	\$4.00	\$684.00	\$4.10	\$701.10	\$4.00	\$684.00	\$5.00	\$855.00	\$3.69	\$630.99	\$2.75	\$470.2
52	660	L EA			\$0.50	\$300.00	\$1.20	\$720.00	\$1.23	\$738.00	\$1.20	\$720.00	\$1.35	\$810.00	\$1.07	\$642.00	\$1.69	\$1,014.0
52 53	660 665	EA LF	600	WK ZN PAV MRK REMOV (W) 4" (DOT)							\$0.55	\$7.612.00						\$9,134.4
				WK ZN PAV MRK REMOV (W) 4" (DOT) WK ZN PAV MRK REMOV (W) 4" (SLD)	\$0.50	\$6,920.00	\$0.50	\$6,920.00	\$0.53	\$7,335.20	φ0.55	\$7,612.00	\$0.70	\$9,688.00	\$0.54	\$7,473.60	\$0.66	
53	665	LF					\$0.50 \$2.60	\$6,920.00 \$572.00	\$0.53 \$2.67	\$7,335.20 \$587.40	\$2.60	\$572.00	\$3.00	\$9,688.00 \$660.00	\$0.54 \$4.39	\$7,473.60 \$965.80	\$0.66 \$3.92	\$862.4
53 54 55 56	665 665 665 665	LF LF LF	13840 220	WK ZN PAV MRK REMOV (W) 4" (SLD) WK ZN PAV MRK REMOV (W) 24" (SLD) WK ZN PAV MRK REMOV (Y) 4" (DOT)	\$0.50 \$3.00 \$0.50	\$6,920.00 \$660.00 \$300.00		\$572.00 \$720.00	\$2.67 \$1.23	\$587.40 \$738.00	\$2.60 \$1.25	\$572.00 \$750.00	\$3.00 \$1.35	\$660.00 \$810.00	\$4.39 \$1.07	\$965.80 \$642.00	\$3.92 \$1.69	\$1,014.
53 54 55 56 57	665 665 665 665 665	LF LF LF LF	13840 220 600 39350	WK ZN PAV MRK REMOV (W) 4" (SLD) WK ZN PAV MRK REMOV (W) 24" (SLD) WK ZN PAV MRK REMOV (Y) 4" (DOT) WK ZN PAV MRK REMOV (Y) 4" (SLD)	\$0.50 \$3.00 \$0.50 \$0.50	\$6,920.00 \$660.00 \$300.00 \$19,675.00	\$2.60 \$1.20 \$0.55	\$572.00 \$720.00 \$21,642.50	\$2.67 \$1.23 \$0.54	\$587.40 \$738.00 \$21,249.00	\$2.60 \$1.25 \$0.55	\$572.00 \$750.00 \$21,642.50	\$3.00 \$1.35 \$0.70	\$660.00 \$810.00 \$27,545.00	\$4.39 \$1.07 \$0.54	\$965.80 \$642.00 \$21,249.00	\$3.92 \$1.69 \$0.66	\$1,014. \$25,971.
53 54 55 56 57 58	665 665 665 665 665 665 666	LF LF LF LF EA	13840 220 600 39350 9	WK ZN PAV MRK REMOV (W) 4" (SLD) WK ZN PAV MRK REMOV (W) 24" (SLD) WK ZN PAV MRK REMOV (Y) 4" (DOT) WK ZN PAV MRK REMOV (Y) 4" (SLD) PREFAB PAV MRK TY C (W) (ARROW)	\$0.50 \$3.00 \$0.50 \$0.50 \$275.00	\$6,920.00 \$660.00 \$300.00 \$19,675.00 \$2,475.00	\$2.60 \$1.20 \$0.55 \$170.00	\$572.00 \$720.00 \$21,642.50 \$1,530.00	\$2.67 \$1.23 \$0.54 \$175.00	\$587.40 \$738.00 \$21,249.00 \$1,575.00	\$2.60 \$1.25 \$0.55 \$200.00	\$572.00 \$750.00 \$21,642.50 \$1,800.00	\$3.00 \$1.35 \$0.70 \$200.00	\$660.00 \$810.00 \$27,545.00 \$1,800.00	\$4.39 \$1.07 \$0.54 \$193.75	\$965.80 \$642.00 \$21,249.00 \$1,743.75	\$3.92 \$1.69 \$0.66 \$1.40	\$1,014. \$25,971. \$12.
53 54 55 56 57 58 59	665 665 665 665 665 665 666	LF LF LF LF EA	13840 220 600 39350 9	WK ZN PAV MRK REMOV (W) 4" (SLD) WK ZN PAV MRK REMOV (W) 24" (SLD) WK ZN PAV MRK REMOV (Y) 4" (DOT) WK ZN PAV MRK REMOV (Y) 4" (SLD) PREFAB PAV MRK TY C (W) (ARROW) PREFAB PAV MRK TY C (W) (WORD)	\$0.50 \$3.00 \$0.50 \$0.50 \$275.00 \$350.00	\$6,920.00 \$660.00 \$300.00 \$19,675.00 \$2,475.00 \$3,150.00	\$2.60 \$1.20 \$0.55 \$170.00 \$260.00	\$572.00 \$720.00 \$21,642.50 \$1,530.00 \$2,340.00	\$2.67 \$1.23 \$0.54 \$175.00 \$265.00	\$587.40 \$738.00 \$21,249.00 \$1,575.00 \$2,385.00	\$2.60 \$1.25 \$0.55 \$200.00 \$265.00	\$572.00 \$750.00 \$21,642.50 \$1,800.00 \$2,385.00	\$3.00 \$1.35 \$0.70 \$200.00 \$300.00	\$660.00 \$810.00 \$27,545.00 \$1,800.00 \$2,700.00	\$4.39 \$1.07 \$0.54 \$193.75 \$256.29	\$965.80 \$642.00 \$21,249.00 \$1,743.75 \$2,306.61	\$3.92 \$1.69 \$0.66 \$1.40 \$1.80	\$1,014.\\\\\$25,971.\\\\\$12.\\\\\\$16.\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\
53 54 55 56 57 58 59 60	665 665 665 665 665 665 666 666	LF LF LF LF EA EA	13840 220 600 39350 9 9 70312	WK ZN PAV MRK REMOV (W) 4" (SLD) WK ZN PAV MRK REMOV (W) 24" (SLD) WK ZN PAV MRK REMOV (Y) 4" (DOT) WK ZN PAV MRK REMOV (Y) 4" (SLD) PREFAB PAV MRK TY C (W) (ARROW) PREFAB PAV MRK TY C (W) (WORD) PAV SURF PREP FOR MRK (4")	\$0.50 \$3.00 \$0.50 \$0.50 \$275.00 \$350.00 \$0.01	\$6,920.00 \$660.00 \$300.00 \$19,675.00 \$2,475.00 \$3,150.00	\$2.60 \$1.20 \$0.55 \$170.00 \$260.00 \$0.01	\$572.00 \$720.00 \$21,642.50 \$1,530.00 \$2,340.00 \$703.12	\$2.67 \$1.23 \$0.54 \$175.00 \$265.00 \$0.01	\$587.40 \$738.00 \$21,249.00 \$1,575.00 \$2,385.00 \$703.12	\$2.60 \$1.25 \$0.55 \$200.00 \$265.00 \$0.01	\$572.00 \$750.00 \$21,642.50 \$1,800.00 \$2,385.00 \$703.12	\$3.00 \$1.35 \$0.70 \$200.00 \$300.00 \$0.10	\$660.00 \$810.00 \$27,545.00 \$1,800.00 \$2,700.00 \$7,031.20	\$4.39 \$1.07 \$0.54 \$193.75 \$256.29 \$0.03	\$965.80 \$642.00 \$21,249.00 \$1,743.75 \$2,306.61 \$2,109.36	\$3.92 \$1.69 \$0.66 \$1.40 \$1.80 \$0.02	\$1,014. \$25,971. \$12. \$16. \$1,406.
53 54 55 56 57 58 59	665 665 665 665 665 665 666	LF LF LF LF EA	13840 220 600 39350 9 9 70312 1132	WK ZN PAV MRK REMOV (W) 4" (SLD) WK ZN PAV MRK REMOV (W) 24" (SLD) WK ZN PAV MRK REMOV (Y) 4" (DOT) WK ZN PAV MRK REMOV (Y) 4" (SLD) PREFAB PAV MRK TY C (W) (ARROW) PREFAB PAV MRK TY C (W) (WORD)	\$0.50 \$3.00 \$0.50 \$0.50 \$275.00 \$350.00	\$6,920.00 \$660.00 \$300.00 \$19,675.00 \$2,475.00 \$3,150.00	\$2.60 \$1.20 \$0.55 \$170.00 \$260.00	\$572.00 \$720.00 \$21,642.50 \$1,530.00 \$2,340.00	\$2.67 \$1.23 \$0.54 \$175.00 \$265.00	\$587.40 \$738.00 \$21,249.00 \$1,575.00 \$2,385.00	\$2.60 \$1.25 \$0.55 \$200.00 \$265.00	\$572.00 \$750.00 \$21,642.50 \$1,800.00 \$2,385.00	\$3.00 \$1.35 \$0.70 \$200.00 \$300.00	\$660.00 \$810.00 \$27,545.00 \$1,800.00 \$2,700.00	\$4.39 \$1.07 \$0.54 \$193.75 \$256.29	\$965.80 \$642.00 \$21,249.00 \$1,743.75 \$2,306.61	\$3.92 \$1.69 \$0.66 \$1.40 \$1.80	\$1,014. \$25,971. \$12. \$16.

Fort Bend County Project # 733 Katy Bid Date 12/17/09	y Gaston Road Widening	g			Bidder No. 5 South Coast		Bidder No. 6 Texas Sterling		Bidder No. 7 Beyer Construct	ion	Bidder No. 8 Triple B		Bidder No. 9 Harris	,	Average of all B	ids I	Engineer's Esti	nate
64	669	EA	9	PAV SURF PREP FOR MRK (SYMBOL)	\$1.00	\$9.00	\$6.00	\$54.00	\$6.00	\$54.00	\$6.00	\$54.00	\$25.00	\$225.00	\$6.73	\$60.57	\$30.00	\$270.00
65	TxDOT	LS	1	MISC SIGNING SUBTOTAL PAVEMENT ITEMS	\$1,000.00	\$1,000.00 <b>\$1,701,356.51</b>	\$9,000.00	\$9,000.00 <b>\$2,051,625.56</b>	\$9,215.00	\$9,215.00 <b>\$1,876,771.34</b>	\$9,000.00	\$9,000.00 <b>\$1,838,525.61</b>	\$10,000.00	\$10,000.00 \$2,084,567.10	\$5,816.94	\$5,816.94 <b>\$1,841,816.28</b>	\$40,000.00	\$40,000.00 \$3,083,832.29
				•														
	E. TRAFFIC CONTROL	. ITEMS																
66	TxDOT	MO	16	BARRICADES, SIGNS AND TRAFFIC HANDLING	\$970.00	\$15,520.00	\$1,000.00	\$16,000.00	\$1,280.00	\$20,480.00	\$2,000.00	\$32,000.00	\$2,500.00	\$40,000.00	\$1,550.84	\$24,813.44	\$2,600.00	\$41,600.00
67 68	TxDOT TxDOT	SY	325 6420	CONSTRUCTION EXITS (TY 1)(INST & REMOV)  TEMPORARY PAVEMENT	\$20.00 \$54.00	\$6,500.00 \$346,680.00	\$10.00 \$25.00	\$3,250.00 \$160,500.00	\$14.60 \$41.00	\$4,745.00 \$263,220.00	\$1.54 \$50.00	\$500.50 \$321,000.00	\$18.00 \$70.00	\$5,850.00 \$449,400.00	\$12.20 \$37.80	\$3,965.00 \$242,676.00	\$20.00 \$0.50	\$6,500.00 \$3,210.00
69	674	LF	19269	REMOVING PAVEMENT STRIPING AND MARKINGS	\$0.35	\$6,744.15	\$0.30	\$5,780.70	\$0.34	\$6,551.46	\$0.35	\$6,744.15	\$0.80	\$15,415.20	\$0.37	\$7,129.53	\$0.50	\$9,634.50
70	674	EA	8	REMOVING PAVEMENT STRIPING AND MARKINGS (SYMB)	\$25.00	\$200.00	\$49.00	\$392.00	\$50.00	\$400.00	\$50.00	\$400.00	\$150.00	\$1,200.00	\$43.86	\$350.88	\$25.00	\$200.00
71	674 741	EA EA	4 28	REMOVING PAVEMENT STRIPING AND MARKINGS (WORD)  INLET PROTECTION	\$25.00 \$50.00	\$100.00 \$1,400.00	\$49.00	\$196.00 \$1,400.00	\$50.00 \$127.50	\$200.00	\$50.00	\$200.00	\$150.00	\$600.00	\$43.86	\$175.44 \$1,853.04	\$35.00 \$100.00	\$140.00 \$2,800.00
72 73	TxDOT	LF	500	PORT CTB (FURN & INST)(LOW PROF)(TY I)	\$8.50	\$1,400.00	\$50.00 \$4.00	\$1,400.00 \$2,000.00	\$127.50	\$3,570.00 \$21,500.00	\$45.00 \$8.40	\$1,260.00 \$4,200.00	\$75.00 \$50.00	\$2,100.00 \$25,000.00	\$66.18 \$22.44	\$1,853.04	\$100.00	\$2,800.00
74	TxDOT	LF	40	PORT CTB (FURN & INST)(LOW PROF)(TY II)	\$8.00	\$320.00	\$4.00	\$160.00	\$45.00	\$1,800.00	\$8.40	\$336.00	\$52.00	\$2,080.00	\$26.16	\$1,046.40	\$39.00	\$1,560.00
75	TxDOT	LF	320	PORT CTB (MOVE)(LOW PROF)(TY I)	\$5.70	\$1,824.00	\$4.00	\$1,280.00	\$3.70	\$1,184.00	\$9.00	\$2,880.00	\$10.00	\$3,200.00	\$7.64	\$2,444.80	\$320.00	\$102,400.00
76 77	TxDOT TxDOT	LF LF	40 500	PORT CTB (MOVE)(LOW PROF)(TY II)  PORT CTB (REMOVE)(LOW PROF)(TY I)	\$5.70 \$7.30	\$228.00 \$3.650.00	\$4.00 \$4.00	\$160.00 \$2.000.00	\$3.70 \$18.50	\$148.00 \$9,250.00	\$9.00 \$7.90	\$360.00 \$3.950.00	\$10.00 \$15.00	\$400.00 \$7.500.00	\$7.08 \$9.62	\$283.20 \$4.810.00	\$40.00 \$500.00	\$1,600.00 \$250.000.00
78	TxDOT	LF	40	PORT CTB (REMOVE)(LOW PROF)(TY II)	\$6.85	\$274.00	\$4.00	\$160.00	\$18.50	\$740.00	\$7.90	\$316.00	\$15.00	\$600.00	\$10.57	\$422.80	\$40.00	\$1,600.00
				SUBTOTAL TRAFFIC CONTROL ITEMS		\$387,690.15		\$193,278.70		\$333,788.46		\$374,146.65		\$553,345.20		\$301,190.53		\$431,744.50
70	F. STORM WATER POL		5739	TRENCH EXCAVATION PROTECTION (5'-10')	\$1.00	¢5 730 00	\$0.10	\$573.90	\$0.62	\$3,558.18	\$0.10	\$573.90	\$0.50	\$2,869.50	\$0.46	\$2,639.94	\$1.00	\$5,739.00
79 80	429 429	LF LF	3157	TRENCH EXCAVATION PROTECTION (5-10)  TRENCH EXCAVATION PROTECTION (10'-15')	\$1.00	\$5,739.00 \$3,157.00	\$0.10	\$373.90 \$315.70	\$0.62	\$2,430.89	\$0.10	\$315.70	\$1.00	\$3,157.00	\$0.46	\$1,862.63	\$2.00	\$6,314.00
81	713	LF	760	REINFORCED FILTER FABRIC BARRIER	\$1.00	\$760.00	\$1.00	\$760.00	\$1.50	\$1,140.00	\$1.10	\$836.00	\$5.00	\$3,800.00	\$1.85	\$1,406.00	\$3.00	\$2,280.00
82	713	LF	760	RMV REINF FILTER FABRIC BARRIER	\$1.00	\$760.00	\$0.10	\$76.00	\$0.50	\$380.00	\$0.50	\$380.00	\$1.00	\$760.00	\$0.73	\$554.80	\$1.00	\$760.00
83 84	714 750	EA LF	31 70	INLET SEDIMENT TRAP ROCK FILTER DAM	\$44.00 \$22.00	\$1,364.00 \$1,540.00	\$35.00 \$18.00	\$1,085.00 \$1,260.00	\$75.00 \$70.00	\$2,325.00 \$4,900.00	\$45.00 \$40.00	\$1,395.00 \$2,800.00	\$75.00 \$35.00	\$2,325.00 \$2,450.00	\$76.35 \$53.53	\$2,366.85 \$3,747.10	\$500.00 \$55.00	\$15,500.00 \$3,850.00
				SUBTOTAL STORM WATER POLLUTION PREVENTION ITEMS	<b>+</b>	\$13,320.00	7.0.00	\$4,070.60	41.0100	\$14,734.07	7.0.00	\$6,300.60	700.00	\$15,361.50	700.00	\$12,577.32	700.00	\$34,443.00
0.5	G. TRAFFIC SIGNAL IT			A DRILLED CHAFT (20 IN)/TRAFFIC CIONAL (2)	0000	#40.000 C-	A.=0	#0.000.5T	0005.5-	010.100.	00000	#40.000.55	109-1		0407.00	040.000.00	P400.00	M44 500 5
85 86	411 421	LF CY		4 DRILLED SHAFT (30 IN)(TRAFFIC SIGNALS) 3 STRUCT CONC (CONTROLLER FND)	\$200.00 \$1,000.00	\$12,800.00 \$1,300.00	\$150.00 \$1,200.00	\$9,600.00 \$1,560.00	\$205.00 \$1,025.00	\$13,120.00 \$1,332.50	\$200.00 \$1,000.00	\$12,800.00 \$1,300.00	Illegible Illegible		\$197.38 \$1,043.13	\$12,632.32 \$1,356.07	\$180.00 \$2.000.00	\$11,520.00 \$2,600.00
87	624	EA		4 ALUMINUM SIGNS (W3-3)(30"X30")	\$260.00	\$1,040.00	\$500.00	\$2,000.00	\$266.50	\$1,066.00	\$260.00	\$1,040.00	Illegible		\$299.71	\$1,198.84	\$365.00	\$1,460.00
88	624	EA		2 ALUMINUM SIGNS (Katy-Gaston RD)(78"X18")	\$200.00	\$400.00	\$340.00	\$680.00	\$205.00	\$410.00	\$200.00	\$400.00	Illegible		\$221.13	\$442.26	\$200.00	\$400.00
89 90	624 677	EA LF		2 ALUMINUM SIGNS (Fry RD)(33"X18") CONDUIT (PVC)(SCHD 40)(2 IN)	\$100.00 \$6.00	\$200.00 \$420.00	\$250.00 \$10.00	\$500.00 \$700.00	\$102.50 \$6.15	\$205.00 \$430.50	\$100.00 \$6.00	\$200.00 \$420.00	Illegible Illegible		\$120.56 \$6.73	\$241.12 \$471.10	\$150.00 \$6.50	\$300.00 \$455.00
90	677	LF		0 CONDUIT (PVC)(SCHD 40)(3 IN)(BORED)	\$6.00	\$0.00	\$10.00	\$700.00	\$46.10	\$430.50	\$50.00	\$420.00	Illegible		\$17.64	\$0.00	\$6.5U	\$455.00
92	677	LF		9 CONDUIT (PVC)(SCHD 40)(3 IN)	\$10.00	\$3,290.00	\$12.00	\$3,948.00	\$10.25	\$3,372.25	\$50.00	\$16,450.00	Illegible		\$15.56	\$5,119.24	\$12.00	\$3,948.00
93	677	LF		4 CONDUIT (PVC)(SCHD 40)(4 IN)	\$12.00	\$48.00	\$60.00	\$240.00	\$12.30	\$49.20	\$12.00	\$48.00	Illegible		\$18.22	\$72.88	\$14.00	\$56.00
94 95	679 679	LF LF		4 ELEC CONDR (2/C #12) 4 ELEC CONDR (4/C #12)	\$1.00 \$1.25	\$1,654.00 \$2,117.50	\$0.90 \$1.00	\$1,488.60 \$1,694.00	\$1.03 \$1.28	\$1,703.62 \$2,168.32	\$1.00 \$1.25	\$1,654.00 \$2,117.50	Illegible Illegible		\$1.01 \$1.28	\$1,670.54 \$2,168.32	\$1.45 \$1.75	\$2,398.30 \$2,964.50
96	679	LF		0 ELEC CONDR 7/C #12)	\$1.80	\$3,906.00	\$1.50	\$3,255.00	\$1.85	\$4,014.50	\$1.80	\$3,906.00	Illegible		\$1.85	\$4,014.50	\$2.50	\$5,425.00
97	679	LF		3 ELEC CONDR (3/C #16)	\$0.50		\$1.00	\$1,033.00	\$0.51	\$526.83	\$0.50	\$516.50	Illegible		\$0.59	\$609.47	\$1.65	\$1,704.45
98 99	680 680	EA EA		1 TRAF SIG POLE (19') W/ 44' MAST ARM 1 TRAF SIG POLE (30') W/ 40' MAST ARM W/ LUM ARM	\$5,600.00 \$6,100.00	\$5,600.00 \$6,100.00	\$6,000.00 \$7,000.00	\$6,000.00 \$7,000.00	\$5,740.00 \$6,250.00	\$5,740.00 \$6,250.00	\$5,600.00 \$6,100.00	\$5,600.00 \$6,100.00	Illegible Illegible		\$5,866.50 \$6,384.63	\$5,866.50 \$6,384.63	\$6,500.00 \$6,400.00	\$6,500.00 \$6,400.00
100	680	EA		1 TRAF SIG POLE (19') W/ 40' MAST ARM	\$5,300.00	\$5,300.00	\$6,000.00	\$6,000.00	\$5,400.00	\$5,400.00	\$5,300.00	\$5,300.00	Illegible		\$5,521.38	\$5,521.38	\$6,250.00	\$6,250.00
101	680	EA		1 TRAF SIG POLE (30') W/ 44' MAST ARM W/LUM ARM	\$7,000.00	\$7,000.00	\$7,000.00	\$7,000.00	\$7,175.00	\$7,175.00	\$7,000.00	\$7,000.00	Illegible		\$7,201.88	\$7,201.88	\$6,500.00	\$6,500.00
102 103	686	EA EA		2 RDWY ILLUM ASSM (250W HPS) 8 TRAF SIG HEAD (3 SECTION)(12" LED)(R-Y-G)	\$600.00	\$1,200.00	\$550.00	\$1,100.00	\$615.00	\$1,230.00 \$5,040.00	\$600.00	\$1,200.00	Illegible		\$604.63	\$1,209.26	\$400.00	\$800.00
103	690 690	EA		4 TRAF SIG HEAD (4 SECTION)(12" LED)(R-R-Y-G)	\$615.00 \$750.00	\$4,920.00 \$3,000.00	\$900.00 \$1,300.00	\$7,200.00 \$5,200.00	\$630.00 \$770.00	\$3,080.00	\$615.00 \$750.00	\$4,920.00 \$3,000.00	Illegible Illegible		\$667.26 \$834.06	\$5,338.08 \$3,336.24	\$775.00 \$1,100.00	\$6,200.00 \$4,400.00
105	TxDOT	LF		2 ELEC CONDR (NO. 4) INSULATED	\$1.00		\$2.00	\$144.00	\$1.03	\$74.16	\$1.00	\$72.00	Illegible		\$1.27	\$91.44	\$2.50	\$180.00
106	TxDOT	LF		1 ELEC CONDR (NO. 8) BARE	\$0.60	\$396.60	\$0.60	\$396.60	\$0.62	\$409.82	\$0.60	\$396.60	Illegible		\$0.67	\$442.87	\$1.15	\$760.15
107 108	TxDOT TxDOT	LF EA		2 ELEC CONDR (NO. 8) INSULATED 4 GROUND BOX TY 1 (243630)	\$0.65 \$540.00		\$1.00 \$800.00	\$742.00 \$3,200.00	\$0.67 \$553.00	\$497.14 \$2,212.00	\$0.65 \$540.00	\$482.30 \$2.160.00	Illegible Illegible		\$0.76 \$591.35	\$563.92 \$2.365.40	\$1.25 \$2,200.00	\$927.50 \$8.800.00
109	TxDOT	EA		1 ELC SRV TY D(120/240)070(NS)GS(E)RT(O)	\$2,800.00	+ /	\$3,000.00	\$3,000.00	\$2,870.00	\$2,870.00	4	\$2,800.00	- 5		\$2,908.25	\$2,908.25	\$3,000.00	\$3,000.00
110	TxDOT	EA		1 TRAFFIC SIGNAL CONTROLLER (TYPE TS 2)	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,375.00	\$15,375.00	\$15,000.00	\$15,000.00	Illegible		\$15,365.63	\$15,365.63	\$16,000.00	\$16,000.00
111 112	TxDOT TxDOT	EA EA		8 BACK PLATE (3 SEC)(12 IN) 4 BACK PLATE (4 SEC)(12 IN)	\$40.00 \$50.00		\$50.00 \$130.00	\$400.00 \$520.00	\$41.00 \$51.25	\$328.00 \$205.00	\$40.00 \$50.00	\$320.00 \$200.00	Illegible Illegible		\$43.85 \$62.84	\$350.80 \$251.36	\$100.00 \$150.00	\$800.00 \$600.00
113	TxDOT	EA		8 PED SIG SEC (12 IN)(2 INDICAT IN 1 SEC)(LED)	\$350.00		\$500.00	\$4,000.00	\$31.25 \$358.75	\$2,870.00	\$350.00	\$2,800.00	Illegible	<del>                                     </del>	\$382.28	\$3,058.24	\$500.00	\$4,000.00
114	TxDOT	EA	8	8 PED DETECT ( 2 INCH PUSH BTN)	\$70.00	\$560.00	\$150.00	\$1,200.00	\$71.75	\$574.00	\$70.00	\$560.00	Illegible		\$79.58	\$636.64	\$225.00	\$1,800.00
115	TxDOT	EA		1 SPREAD SPECTRUM RADIO	\$4,400.00		\$3,900.00	\$3,900.00	\$4,510.00	\$4,510.00	\$4,400.00	\$4,400.00	Illegible		\$4,458.50	\$4,458.50	\$2,700.00	\$2,700.00
116 117	TxDOT TxDOT	LF EA		5 COAXIAL CABLE 1 ANTENNA (UNI-DIRECTIONAL)	\$2.76 \$650.00	\$124.20 \$650.00	\$10.00 \$650.00	\$450.00 \$650.00	\$2.82 \$666.25	\$126.90 \$666.25	\$2.75 \$650.00	\$123.75 \$650.00	Illegible Illegible	+ +	\$3.76 \$670.22	\$169.20 \$670.22	\$2.60 \$610.00	\$117.00 \$610.00
118	TxDOT	EA		1 VIVDS PROCESSOR SYSTEM	\$14,200.00	\$14,200.00	\$15,000.00	\$15,000.00	\$14,555.00	\$14,555.00	\$14,200.00	\$14,200.00	Illegible		\$14,706.13	\$14,706.13	\$6,100.00	\$6,100.00
119	TxDOT	EA		4 VIVDS CAMERA ASSEMBLY	\$1,450.00	\$5,800.00	\$1,450.00	\$5,800.00	\$1,485.00	\$5,940.00	\$1,500.00	\$6,000.00	Illegible		\$1,498.31	\$5,993.24	\$1,800.00	\$7,200.00
120 121	TxDOT TxDOT	EA LF		1 VIVDS SET-UP SYSTEM 3 VIVDS COMMUNICATION CABLE (COAXIAL)	\$5,500.00 \$1.30	\$5,500.00 \$1,342.90	\$1,000.00 \$1.00	\$1,000.00 \$1,033.00	\$5,640.00 \$1.33	\$5,640.00 \$1,373.89	\$5,500.00 \$1.30	\$5,500.00 \$1,342.90	Illegible Illegible	+ +	\$5,128.13 \$1.33	\$5,128.13 \$1,373.89	\$1,000.00 \$2.50	\$1,000.00 \$2,582.50
141		•	103	SUBTOTAL TRAFFIC SIGNAL ITEMS		\$117,620.00	φ1.00	\$1,033.00 \$122,634.20	φ1.33	\$120,540.88		\$1,342.90 \$130,979.55	egible	\$141,621.80	Ψ1.00	\$123,388.49	ψ2.00	\$127,458.40
	H. ALTERNATE BID ITE																	_ <del></del>
122 123	HCFCD HCFCD	LF LF		5 HDPE PIPE (18 IN) HDPE PIPE (24 IN)	\$30.00 \$27.00	\$20,550.00 \$52,623.00	\$36.00 \$38.00	\$24,660.00 \$74,062.00	\$25.00 \$37.00	\$17,125.00 \$72,113.00	No Bid No Bid		No Bid No Bid	+	\$28.89 \$36.46	\$19,789.65 \$71,060.54		\$0.00 \$0.00
123	HCFCD	LF	1,949	HDPE PIPE (24 IN) HDPE PIPE (30 IN)	\$27.00 \$42.00		\$38.00 \$48.00	\$74,062.00 \$69,696.00	\$37.00 \$39.00	\$72,113.00 \$56,628.00	No Bid		No Bid	<del>                                     </del>	\$36.46 \$42.79	\$71,060.54 \$62,131.08		\$0.00
125	HCFCD	LF	3,226	HDPE PIPE (36 IN)	\$50.00	\$161,300.00	\$56.00	\$180,656.00	\$53.00	\$170,978.00	No Bid		No Bid		\$54.28	\$175,107.28		\$0.00
126	HCFCD	LF 1 E	594	HDPE PIPE (42 IN) HDPE PIPE (48 IN)	\$83.00 \$106.00	\$49,302.00	\$75.00 \$77.00	\$44,550.00 \$87,540.00	\$78.00 \$94.00	\$46,332.00 \$106.979.00	No Bid		No Bid		\$77.41 \$90.90	\$45,981.54 \$103,353.30		\$0.00
127	HCFCD	LF	1,137	SUBTOTAL ALTERNATE BID ITEMS		\$120,522.00 \$465,281.00	\$77.00	\$87,549.00 <b>\$481,173.00</b>	φ94.00	\$106,878.00 \$470,054.00	No Bid	\$0.00	No Bid	\$0.00	φ90.90	\$103,353.30 \$477,423.39		\$0.00 <b>\$0.0</b> 0
		-							Į.	·	•							
TOTAL BID PRICE	E (ITEMS A THROUGH H	1)				\$2,816,601.26		\$2,992,117.06		\$3,024,804.00		\$3,222,227.91		\$3,564,323.10		\$3,551,283.62		\$4,606,516.39
					\$	%	\$	%	\$	%	\$	%	\$	%				
DIFFERENCE FRO	OM LOW BID				\$192,986.48	107.36%	\$368,502.28	114.05%	\$401,189.22	115.29%	\$598,613.13	122.82%	\$940,708.32	135.86%				
DAYS - 480 MAX					365		Unspecified		Unspecified		465		480					
DA 13 - 400 WAX					ათა	<u> </u>	unspecified	<u> </u>	unspecified		400		400					